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e 1 INSTRUCTIONS

m 3N TRLAR. ¥R TAF W BN, Gl wear, ge gRast wais, adar #rs, whar faf¥
R wi sfifcal @ a1/} I @ 19 @ ren afad §) @ILAR SR TEe ¥ I
TS B g B 7 M O G Tow A 3 gy § a0, HLaR, SO UAs &1 {ediaed el e

ST SR g3 g arreff wod SoeRN e |

It is compulsory for the candidate to fill all entries on the OMR Answer Sheet like Roll No., Registration No., Question

Booklet No., Exam Centre Code, Examination Date and Shift etc. using Black/Blue ball point pen. In case of making no

entry or making wrong entry of Question Booklet No. on OMR Answer Sheet, the evaluation of OMR Answer Sheet shall

not be done and the candidate himself/herself will be responsible for it.

1. wﬁmmz\ﬁﬁmgﬁﬁm@mmm,wmaﬂuﬁr—aﬁfﬁvﬁamwgﬁﬁmmﬁﬁsmmﬁ

T BHIE 1 R A FEE 100 @ W 0 HAaR g6 ¥ 6w gRaer § i g dee # | RRA A e
A RETR B W we gRaET 7F MNTHAR. IR T Sq0ed § aear 3 | e gRe 8 & 5 e $ awE
T Rufy & e sy w o1 fRar =78 fFar s | :
At the start of the examination, check your Question Booklet and OMR Answer Sheet and ensure that all the questions from
S.No. 1 to last S.No. 100 are printed and all the pages are present in the Question Booklet. In case of any discrepancy, the
candidate should replace the Question Booklet and OMR Answer Sheet from the invigilator. No objection in this regard will
be entertained after five minutes of start of examination.

2. 90 HeRi % SR AT | ) Il & i WA R | ¢ A
Answer all questions. All questions carry equal marks. ‘

3. UST W @7 3 T & SR ARy | AOET R UE ¥ e 9wk A% @ g § gy & S P AW JAl
QT 207 A AT IR B Y qo—Derd 3 HIET G | 5P AR BieT R T4 3HF fear S |
Only one answer is to be given for each question. Overwriting and marking multiple answers will be considered as wrong
answers and 1/4 mark will be deducted for each such answer. Leaving a question unanswered will get zero mark. '

4 TR Te ¥ GR PRE TR 23 T £ O B (A), B), (C), (D) ik iy maw & | aredf @ <t SR fAfde
Wﬁgﬂaﬁﬁmmmmmﬁaﬁﬂnaﬂwmwm/mmaﬁzfm@mr—n% |

Each question has four alternative responses marked serially as (A), (B), (C), (D). You have to darken only one circle or
bubble indicating the correct answer on the OMR Answer Sheet using BLACK/BLUE BALL POINT PEN.

s, ﬁw,wm/?ﬁumamﬂmmsﬁ?ﬁﬁmwﬁwﬁmﬁaﬁmmﬁa% | afx
ey angeff % T Y ¢ At wr frerh § @ sue el FgER FeR FEad @ e |

Use of Calculator, Mobile Phone/Bluetooth devices or any other electronic gadget in the examination hall is strictly prohibited.
If any such prohibited material found with any candidate,ﬁt;ct action will be taken against him/her as per rule. ~

6. afe Foch s B R Td afioll wURI A el FHR B BE T A1 A SR F1 aeqear/IRa @ v
T S HAART AT B | :
If there is any sort of ambiguity/mistake either of printing or factual nature in Hindi and English Version of the question, the
English Version will be treated as standard. ‘

7 mﬂqﬁm—wmﬁﬁmaﬁ.mm.wmaﬂﬂﬂhﬁmmﬁﬁﬁmmaﬁmiamm
apeff Sfrg qvs /e BRad & 9rF B | SNTHAR, SR 937 @ angefl wfy afdderd g o o anaedt
P & & WA | ' ’

Before leaving the Examination Hall candidate must hand over all the three copies of OMR Answer Sheet to the invigilator

without separating them, otherwise candidate will be liable for appropriate penal/legal action. Invigilator will hand over the

candidate’s copy of OMR Answer Sheet to the candidate after si:garatin it. , /
8. gdE T & IuRr andaedl STl SYHIR. IR TP B I ey T 9N WG WE gRAO®T A9 W A

¥Hhd & |

Afier the exam is over; the candidates can take their candidate copy of OMR Answer Sheet and their used Question Booklet

along with them. : . _
e o o 8 £ o Bt A R R ) A B L e e o ) e i S

30 97 gRA®T $) T4 ab 1 Eed SE T BT TS|
Do not open this Question Booklet until you arce asked to do so.
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2.

3.

4.

&

fFe dvs e R wR A R A EEa R 7
(A) Hfowam \(BY witgaw.,
(C) fafma () frafmc

Which nutrient deficiency can lead to anaemia ?

(A) Calcium (B) Iron

(C) Vitamin A (D) Vitamin C

Vi AR 3§ qu IeTed B Faf A % g
M T g 3 w9 Y Rrdigr 2 2

(A) (B) Wifae

(©) T=A (D) TEIH

Which hormone is primarily responsible for
stimulating milk production in the mammary
glands ?

(A) Oxytocin (B) Prolactin

(C) Progesterone (D) Estrogen

S Q3 % W1E /i gr Ienied Wi gy @
g, Sl T iy % R wetd (shiffe)
3R v el A R AT R 2

A) e fuyes (B) @

(C) wien fen ) =iRgH

What is the initial milk produced by the
mother after giving birth, which is rich in

antibodies and nutrients for the newborn ?
(A) Skim milk (B) Lactose -

(C) Formulamilk (D) Colostrum

TWURAR R R aae?
(A) & THERR HFTHTE T HIOT Sl 2 |
(B) /3T& NS (a1 i F@ran 8 |

) T8 T H H TR H Y FEE |
(D) o I8 o) o 7 ey 1 e e 2 |

. How does breastfeeding benefit the mother ?

(A) It causes postpartum depression.
(B) It increases fertility.

(C) Ttreduces the risk of breast cancer.
(D) Ithelps her lose weight quickly.

ﬁﬁ%‘f@ﬁﬁﬂm‘%ﬁﬂaﬁqmg@

6.

e i gfR % frg mifaen glEw §
AN gt FRE BTHIA T Yoy ST AR 2
(A) Teifae :

\o 81 T e TR (e

(C) WA
(D) TERH

Which hormone is typically detected in a
pregnancy test to confirm pregnancy ?

(A) Prolactin ' _
(B) Human Chorionic Gonadotropin (HCG)
(C) Progesterone

(D) Estrogen

@ e 3 e wewl ¥ @ uh wn R S

W OH T AN (missed period) & T&S B
HHa1 8 ?

(A) T Se

(B) ¥isMewHidge

¥C) WU HEew

" i o

What is one of the early signs of pregnancy
that may occur before a missed period ?

(A) Weight gain

(B) Swelling of the feet and ankles

(C) Foetal movement

(D) Moming sickness

e % fre e 9 s R

(qujckening) g1 STl 2?7 R
@ R @) iy
PUKIELE (D). & hiuer

Which sign of pregnancy is often referred to
as “quickening” ? .

(A) Fatigue

(B) Increased urination-

(C) Foetal movement

(D) Breast tenderness -

i

: 9. fava wren @M (WHO) g1 et ey
FUI0 % fd g 31U TaeAsiie 2 9. REEEEE LR E 1
. (A wERe (B) TR A) 179 ) 6 TR
) midfAfen (D) TR (C) 3wER (D) 1w
Which among the following group of Whirlt is bthe rfec?immindf}ii \%uration for
exclusi tfeedin
individuals is most vulnerable to malnutrition ? Organization (WHO) 7 - ¢ " ond Health
(A) Bodybuilders (B) Vegetanans (A) 1year (B) 6 months
(C) Pregnant women (D) Athletes (©) 3 months (D) 1 month
D23.. +"
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10.

13.

ot ) o i Mt e & €7 T
qaet, gftrn T i HEd 2

(A) TFAmRyET (MieTe)

(B) MEAYAE

(C) I

(D)
What is the term for the thin, milky
discharge from the cervix that can occur

early in pregnancy ?

(A) Eclampsia

(B) Gestational diabetes

(C) Hemorrhoids

(D) Leukorrhea

28 it mfseht wigen @ 1 yE He1 8 @
R | 30 @ I A @ R, AR aw

= S B T @ | 3/ R G b of

frrra 2 | T i frm sfearan 1 igva &

gl & ?

(A) e v

(B) %d @ Y&a

Q. ATTTIHATT

(D) sEEe fgag HigaH (HFH)

Sarah, a 28-year-old pregnant woman, is 1n
labour. She has been experiencing
contractions, but it is suddenly stopped. She
also complains of severe bleeding. What
complication might Sarah be experlencmg ?

(A) False labour

(B) Preterm labour

(C) Placental abruption

(D) Braxton Hicks contractions

WHO % 7t feznfadei % gan ANC fafre
I AR T T THA 2 :

Minimum of ANC visit as per the new
WHO Guidelines are :
(B) 13

(A) 20
NC) 8- D) 4
v % R T R AE A gy e
1 71 it Rada Aard 2
(A) YT 6 f=eht ‘
T g BT
%‘q’ﬁ%ﬁm@aqﬁ)v
(D) ﬂtaﬂtz@ﬁﬁqm

Which physical change is a fesult of

increased blood volume during pregnancy ?
(A) Foetal hiccups e

Nasal congestion
(C), Stretch magrks

) Swollen feet and ankles

15.

35 1ol Y et wgen @iftear H 3w aé
N T A F G I TWETS HT AT BT
73 W 2 | Fafredm @iy & aEg
TrrE™ IR R | 38 TR yEE W w6l
9T R T2 2

(A) YHIRR @aeE  (B) S
(C) =g fifea FETe
Sophia, a 35-year-old pregnant woman, is
experiencing heavy bleeding after giving birth
to her baby. The bleeding continues despite
medical intervention. What is the likely cause
of this severe postpartum bleeding ?

(A) Postpartum hemorrhage

(B) Uterine atony

(C) Placenta previa

(D) Postpartum depression

Yo % ERF, 29 quty miad afgen @ A
A U2 & et ftd ° 99, e g
HEW g1 8 | 364 78 oft <wn R = A g
wﬁrm@ﬂﬁ%lw@m%?

(A) fremyma
NB) S fRe i (H)
-~ (C) Tfy-T v
(D) 9= Y “
During labour, Rama, a 29-year-old

- (A)

i @)
(g@/l 30 I¥ffg midt wfegen hen Ry B

pregnant woman, suddenly feels a sharp,
tearing pain in her lower abdomen. She also
notices that the baby’s heart rate has
dropped. What could be happemng ?

False labour

Braxton Hicks contractlons

Umbilical cord prolapse

Normal labour progression

B)
©

T 8 | IFeh! T= e T TR Ry
&agm%isaf@ﬁfaﬁwm%? '

\A) TEEd

(B) T 5w j
©) ><' ¢

\WP) AgaTa difern

Leela, a 30-year-old pregnant woman, has a
history of diabetes. Her baby is born with
low -blood sugar levels. What is this
condition called ? .

(A) Neonatal hypoglycaemia -

(B) Preterm birth

(C) Macrosomia

) -(D) Neonatal jaundice
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17. Y U& HHSMAS @i wEsdal &
TR aTETs %5 § Wreed SnrEsdl 99
I R 8 | I wgfa & e, 3
Y@ i o Sefer @i e ik Rl
wdtd g 2 | 39 fRufy @ fged & forg amueh!
forg g Sterer 1 S5t e TRy 2
(A) I A HTHRT HA b foTg SR e |
(B) @l @ Gush w=1¢ 3R I WS e

F fwga WA e |
(C) 9us |ANt W wH 7 ¢ 3N 1w wegfa
S @ | |
(D) TEU wI famfea 7 F0 & T wHer
@i T W@ |
You are a community health worker
conducting a health awareness session in a
local community center. During your
presentation, you notice that some attendees
seem disengaged and distracted. What

communication skill should you use . to

address this situation ?

(A) Speak louder to get their attention.

(B) Make eye contact and ask open-ended
' questions to involve them.

(C) Ignore the disengaged attendees and

continue your presentation.
(D) Maintain a monotone voice to not

distract others.

18. 25 =dfg mi=dt afgen e = 7= FY

20.

,a‘lﬁiﬁgm%aﬁﬁﬁmwﬁlm
fermmait

H1q e @H-TH afredt maamw ok
5 frfery a9 & fT

SregTaeAt 2
(D) F7 g § st gEft (Hde) FH
F F g e & 9l | /

You are part of a community health team
responsible for promoting healthy eating
habits. You are conducting a cooking class
for a diverse group of community members. |
Some attendees do not speak English |
fluently, and communication is challenging.
What ~communication skill should you
in this situation ?

emplo
(A)p I};e simple language, visuals, and

rovide translated materials if possible.
Brovide written materials in English’only. &
C) Use complex medical terminology to _
educate participants. :
(D) . Speak quickly to cover more content in

a short time.
3T T HIASIeh T Shiiehdl 8, 31 3TT9eh!
HIT-ToT % Teh UG ! ATcATSAT % SehIehvl
% e o aR § G HE1 8 | T qrar-fiar 3

TE @1 ¥ weiftd e % frg

I I % 9] A9 @R R R e g€ e HTTeh! {HH FER I T IUGNT AT =11 2 '
2 1 38 v 3 ary wilt AN w1 w1 oA s (A) IFhI fmatt i PRI AmeR i 9 g | /
BT 2 | I TENR fhe e & wmen | 07 (B) ITH! el w6 wiien =, wemyf @ |
il 25 A 3R H1EA - SR ST ¥qH e | &
FHTT IS THAT 8 7 : (C) 3whi Tarfdre fomait =t d@eiftra frg famm £
(A) ATYHTET L AT et | R, | S : f
o (B) iR YRE RIS oF (D) Ho¥ ! U & oY Jerefi=r et qe < ;
qSrgfem \, You are a public health worker, and you '
7(D) TR STEE - - need to inform a group of parents about the
Anamika, a 25-year-old pregnant . woman, importance of childhood vaccinations. One H3
develops a high d ahdorninal ah parent express concern about vaccine safety
s Ps a hugh Iever and severe alx Ep Which-communication skill should you use ;
er gwgg 11:::, Shf[h also ;xlﬁenoflnces heavy E& )address their concerns effectively 2
vaginal discharge with a fo our. What Dismiss their concemns as unf
postpartum complication might she be facing ? (B) Acknowledge their COHC:ﬂ]‘lJS? gll;:;:zlifgi.zc
(A) Placental abruption - and provide evidence-based information, ~
(B) Gestational diabetes (C) Share scientific data without addressin
(C) Endometritis geir' gpe((l:jﬁc concerns. 8
(D) Postpartum depression ® pr‘:\)’:ent C(I);ct!lliscstl.ng nrene safety to 3
$ e —— -
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22,

39 T W Tarees Frewal & R
[RELERIEY Bﬁuﬁﬁwmﬁﬁ%mgg
ﬁmﬁmmﬁ%mﬁﬁ
TR | e 2 @ o g B o R |
38 =afn % wr wE gur GREE wE %
U 3w ey GuR Sive S I HEHT

fee ?
(A) Frard % w 9H | =9 Hifh T8 Tgd
A HFATR | v

(B) msqéaﬁﬁaﬁwﬁw%ra
=9l forRaa g T IR |

(®) gﬁgﬁaaﬁ%m@ﬁaa@%dﬁ

|

(D) S S ¥ g 3Tl TS W |

You are a community health worker assigned to

visit elderly residents in their homes to assess

their health needs. One of the residents is

hearing-impaired. What communication skill
effective

may be too challenging.
Speak clearly and use gestures or
written materials if necessary. -

embarrassment.
(D) Raise your voice to speak loudly.

m@WW&W%ﬁW
% THh %mﬁqﬁarﬂaém(wl)
W@%(Wﬁ)mﬁﬁﬁﬁ@%l
@qﬁwﬁ@ﬁmﬁﬂaﬂtwﬁmﬁm

(D) qgﬁgaﬁa;ﬁ%s%qﬁﬁaﬁtmail
You are a community health educator

conducting 2 workshop on Sexually

Transmitted Infections (STIs) for a group of

teenagers. One participant asks a sensitive an
personal question. How should you respond ?
(A) Criticize the participant for asking an
inappropriate question. _
Encourage open discussion, maintain
confidentiality, ~ and provide 2
thoughtful answer.
Ignore the question an

next topic. _
ke to lighten the mood.

(B)

d move on to the

©

Avoid direct eye contact to *avoid

D)

24,

RS.

26.

@

A I

=D. T
Er
updiuaTs o) T fope ad g8 ot 2
FPA} was established in the year of :
1949 (B) 1961-
(C) 1948 (D) 1963
frafafgs # ¥ 9 @ 9@ fFm %

et =RoT (€)Y frdran £ 2

\¢A) TEEAAT SR TEEH 1 ATATT

(B) 3w fiia 1 o<t & ferpr
(C) G H e ARG
(D) e 37 forera & Aot

Which of the following is a characteristic of
the pre-schooler stage of child development ?
(A) Pursuit of independence and identity.
(B) Rapid development of abstract thinking.
(C) Exploration of the world through play.
(D) Puberty and growth spurts.

e & TP aiferen fead e wATEn S 297
(A) 31 FRR BF 24 Sl

(C) 5 AT (D) 11 3

When is the National Girl Child Day
pelebrated in India ?
(A) 31 October
(C) 5" August

mm@ﬁmm%mmm
251 ST FohaT ST 8 2 e
(B) TEH S A
(©) < (D) T

Which- preservative is used for preserving

(B) 24" January
(D) 11% October

_ the tomato sauce VR

(A) Sodium Benzoate

" (B) Salts of Sulphurs

(C) Sugar :
(D) Vinegar
et Fapre & form T A = AR T L

am,a@aﬁﬁmmaﬁtmﬁmm

B S gE A& 2 i

& der

(C) Toddler

®) e

) g
of child development/do~»’/’
begin to roll over, grasp
to their own name ? i
(B) Preschooler
(D) Infant

(A) TersiTaen

At which stage
children typically
objects, and respond
(A) Adolescence

Laugh and make ajo

(D)

D23
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29.

30.

el il 0wt whomm 3 |
- (A) T T5em arlt w5 amm 10 faf A
LR CEE RS ICroc ks S
(B) T foremt et 1 arawm | fenft At
T =T & foT srrawas Fon
@‘@ fFet ot #1 awwE 1000 fft
D) 1 AR i = 100 foht Afcaag a5
TR % T Srravas e

Choose correct definition of Kilo calorie.

(A) Heat required to raise temperature of
one kg of water by 10 degree C.

(B) Heat required to raise temperature of
one kg of water by 1 degree C.

(C) Heat required to raise the temperature
of one kg of water by 1000 degree C.

(D) Heat required to raise the 1 litre of
water-by 100 degree C.

i ¥

WA fawm gadt aoanst | s
yfdgpa aeAERAT % el (Adverse
Childhood Experiences (ACE)) & el
ghar 8, R wie & ;

(A) Refres vt

(B) T&AT HEATY A1 gaER

(o) Uit ER IR EEm .

(D) & uTiETie fga .
-Emotional developmental problems can
often be linked to Adverse Childhood
Experiences (ACEs), including :

(A) Academic achievement

(B) Traumatic events or abuse ~

(C) Nutritious diet and exercise
(D) Healthy family relationships

9 fae™E w1 I W WO AE I
GAATHS I, NG 3 e 3 wwen-/

YA % R AIIR?
) feirEen (B) |O-W
(C) AR (o) frg

Which stage “of child developmerit is
associated with the acquisition of more
advanced cognitive skills, such as abstract
thinking and problem-solving ?

(A) Adolescence  (B) SchooI-age

32,

AFE (A) : @R Gl @A &
gt fufel ) geifia FA F fag
31 81 & TTY TEIT HTA E

Hn (R) : @A & wmifaes fafes sl
w1 § e qun w@meg gfmE @@

FHIE ISATR | :

(A). (A) T & 3T (R) T 2 |
(A)TE R 3 (R) TR |

(©) (A) 3R (R) 2 7 & 3 (R), (A) F

. T EEE AR R |

(D) (A) 3 (R) Bt @ & 3 (R), (A) 1
g EE R |

Assertion (A) : Health agencies collaborate

with other sectors to address the social
determinants of health.

Reason (R) : Social determinants of health
are external factors that have little
influence on overall health outcomes.

(A) (A)is false and (R) is true.

(B) (A)is true and (R) is false.-

.. (C) Both (A) and (R) are correct and (R) is

not the correct explanation of (A).
(D) Both (A) and (R) are correct and (R) is
the correct explanation of (A).

T T S G@WE H STl % WY q2E

T HEE W oo w2 ok

e feam 3 g s o S B R,

g Fraferftaa s weRfa s a2

(a) fayh fm

B) vhifrmfim «m fer (i
=i femAidt (RAD))

- (C) AhETEe T fawn (de-IRts

wu fewatidt (PTSD))
(D) Hiiesw wwm fwn (s dAww
femartdt (ASD))

A child who experiences difficulty in
forming attachments to caregivers and has
trouble in showing empathy and forming
relationships may be exhibiting signs of :

(A) Bipolar disorder

(B) Reactive Attachment Disorder (RAD)

(C) Post-Traumatic Stress Disorder (PTSD)

(C) Toddler (D) Infant (D) Autism Spectrum Disorder (ASD)
D23 6 +
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: > l- Ii _ 4



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

e

GET IT ON
Google Play

34.

H (R) : Srmifese sgaum @ @i
WEg Gl q@EsE g |,

(A) (A)TEaR s Ry e g |

(B) (AT R 3 (R) e R |

(©) (A) 3l (R) T v € 3 (R), (A) F
T T AE R |

D) (A) 3R (R) 1 7d & 3 (R), (A) =
TE TR 2 |

Assertion (A) : Local health agencies are
primarily responsible for conducting
biomedical research. 4

Reason (R) : Biomedical research is the
core function of health agencies at the
local level.

(A) (A)is false and (R) is also not correct.

(B) (A) is true and (R) is false.

(C) Both (A) and (R) are correct and (R) is
not the correct explanation of (A).

(D) Both (A) and (R) are correct and (R) is
the correct explanation of (A).

ARYT (A) : fova @reE 187 (WHO)
At i e wiEl e w9
m;mmmwmm

| A3 | :

RV (R) : I @rey it fvgs
WA WE % gy dAR @im 9w

Wg’-ﬁﬁ?ﬂ F1 GAYE A F fore
fomer g | A
(A) (A)TEAR IR (R)EER |

(B) (A)TERIN(R)Te 2 | |
(C) (A) 3 (R) 3FI wEl & 3k (R), (A) =1
TE TR TR R |

(D) (A) 3 (R) HT 6t & 3R (R), (A)
- R EEER |

Assertion (A) : International health agencies
like the World Health Organization
(WHO) primarily focus on national
healthcare policies.

Reason (R) : International health agencies
are responsible for coordinating global
health efforts and addressing cross—
border health challenges.

(A) (A)is false and (R) is true.
(B) (A)is true and (R) is false. -

(C) Both (A) and (R) are correct and (R) is !

not the correct explanation of (A).

(D) Both (A) and (R) are correct and (R) is

the correct explanation of (A).

povpers

7

aa s

36.

37.

38.

39.

74 WA LT LA 71 AR 87 £ TELL b ) AR L A U] LA

@ mﬂ;mrmwaﬁwtﬁm 35, TR QRN e e = @ o 3 Fow ave
A TNRTFA aEuE Y F R FEAE?
Rraem € | (A) % amg (B) 3mfiTa s
\C) TaHIRT (D) T % =g

At which time of day do the aedes egypti
mosquitoes bite primarily ?

gA) Day time (B) Midnight
C) Early night (D) Night time
frafafaa 3 @ 2% @1 Y1(nuts), smaE =1
Rkt 3

(A) fawm (B) FEWR

&C) mlﬁj (D) =™
Which of the following nuts is the richest
source of iron ? ’
) Walnuts

(A) Pistachio
(C) Cashew nuts (D) Almonds

%o B UG 91 B & ) 9 O e |

A1 ?
(B
oy

Bl Al
(C) a= . (D) ¥

What does the fruit contain that assist in
normal bowel movements ?
Cellulose

gé} %‘:tg o %3 Protein

S| (pulses) & qrgur faeft st & w9
HI3H T T Y Yo o sred & 2

(A) At & o R s sR |

VIS S i WEANSRES

(©) faerf A srerega e € |

(D) R ¥ $5 1Ivs dcal &I Ivcieal =9
. AR

How do the phytates affect to the body as
anti-nutritional factors in pulses ?

A) Decrease the reabsorption of water.
Increase the absorption of the water.

C) Increase the availability of vitamins. -
Decrease the availability of some
nutrients to the body. )

frafafegs & /@ f Sfiem @t (vital
statistics) %1 374 feht fafire vy arafy &
& T SAEE ¥ wHE W A W 1,000
nfgenatt ® Sifaq s= 6 g i e %
fore feran ST 2 2
(A) FURSHITHA (B) A JeY X
RFER (D) @I
Which of the following vital statistics is
used to measure the number of live births
per 1,000 women of childbearing age in a
given population in a specific time period ?

(A) Crude birth rate #=

(B) Maternal mortality rate

(C) Infant mortality rate
(D) Neonatal mortality rate
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40.

41.

42.

L

frafifen & @ frg @ d ot W
R TR AR 2 2

(A) e (B) wEd

C) gogEida @) i 4
Which of the following sources, contains all
the essential amino acids ?

(A) Banana (B) Rice

(C) Sunfloweroil (D) Eggs

Ty FEHl TS S T 61 G
TR, AT I T SR HH Toha & 2
(A) 91 et .
UB) WA 3 e <t
(C) Faat Fer H wft
(D) aet WA 6wt
When assessing the child with the nutritional
Marasmus, which cause canyou assume ?
(A) Deficiency of fats. /
(B) Deficiency of protein and calories.
(C) Deficiency of calories only.
(D) Deficiency of protein only.
A ot T ) v S Rre g A Y
B T IEEAT Thaeh T HTHe Bl 2
(A) W% feme & wemw

_B) WS fram ¥ =

46.

47.

qrft
(B) qqh Bl
() WiE® gqi?qgﬁw Il
R i vise to give to child in
What you will not ad g

dehydration
(A) Lemon water

ater _
%g; (S)(;l:l\;{ilwdmtion Solution

(D) Pure water only

o 5
ST
® aaehin

(C) Sifaa d (=T )

(D) fafswa A (fres dwi) :
Which type of vaccine gives longer duration
of immunity ?

(A) Innate
(C) Live vaccine

(B) Live DNA
(D) Killed vaccine

1t 3 W ¥ Yo ¥ A CESISt S RAEIT
O Y For SRR Y SRS e AT R 7
) ST (B

©) fifesa ) whwa

The transfer of maternal antibodies across
the placenta to the foetus give which kind of -

A (C) W T A sfva awm : :
immunity to the foetus ?
(D) 3R % feme | it s9m (A) Inn?lge B) Herd
Which first indicator will you assess in child for §  (C) Passive (D) Active
recognition of Protein energy malnutrition ? 48, WE dwem & g Al f amar s
(A) Obesity for age. T S HEat Jurrel = R 7
(B) Underweight for age. (A) FmEh WH s
*(C) - Appropriate weight for age. (C) S EEH TN (D) e Sewremor
(D) Ovenveight for age. ~ What is the important system to maintain the
\ potency of vaccines for effective immunization ?
43, m:mnﬁ%%mﬁmm W H 2{3\)) (S:mi\'cillancc e
VAR A TSI R 2 old chain
(C) Population survey
Eé; g ((gi g . (D) Early immunizatfon
Which cereal can be advised to take for s ‘Tﬁﬁqﬁﬁ g%g;paﬁ? T Iﬁﬂlﬁg
good calcium source ? @Iﬁ{ﬁ?@f T =T T'f
(A) Wheat (B) Gram B T v Ry et 2
(C) Rice (D) Ragi ~-- {‘C\)) XB) A
44, WHATT AN TWA NI TA@R? Which condition will <2, fit fsfefiao
» condition will you diagnose if you are
ﬁg TN ®B) ;fﬁ ‘S‘ﬁﬁssg@ lhc; clu{d \\1‘3\ fever and you find the
(D) ¢S not go back quickly when pinched ?
Which simple protein is found in blood ? (&) Inflammation ’ ’
(A) Lipoprotein (B) Mucin (B) lntccnoq
(C) Globulin (D) Heam Unconsciousness
| ) Severe dehydration
D23
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51.

.52.

53.

54.

fra T WHO 3 anfueifs dt w aftas
YTt SHTdsHT Y foRa 7
In which year did WHO officially launch a
global immunization programme ?

) 41994 (B) 1984

1974 (D) 1964

1975 & wfgenail % fava gever 3 o8 Ho
! wigeat s arfirer aifta foman ?
(A) 3T w=a1 1 fran

AR T e WA 9 4 R

(C) AT

(D) Feg W e »
What statement did the World Conference of the
Women in 1975 declare as Women’s right ?
(A) Education of their children.

(B) Decide freely on the number of their

children. oy

(C) Going to school. 7
(D) Education on mortality rate.

‘TRER PR % g § S §1 U
AR 7

(A) mifRI % faftm w1 3w |
(B) ¥g SHHEAT h SAIG 7@ * IR |-
(C) W Q) o=l & ofiw v 6 Fore R |

) TG THTATER | ;

Which statement is false regarding the word |

‘family planning’ ? -
(A) Use of different methods of contraceptien.
(B) It is for maintaining the population.

(C) Itis for the spacing between two children.
(D) Itis just increase in the birth rate.

Ber TER AHee (Wiid e ) TiEr
HEITUT FT3HH 1 LT AT FEeHT Tl T
(A) TF g4 R = e B a1 il

¥B) ETHE |

(C) I AT Frehio. ,
The small family norm was the objective of
the family welfare programme which was

symbolized by the
(A) A circle with a small cross underneath

(B) Red cross
(C) Inverted red triangle
(D) Pink ribbon,

mﬁ@rﬁz&fgﬁ%ﬁﬁmaﬂf{ﬁﬁqaﬁ
CiLi R Rk A

- (A) TfeH (B) diferaie -

(C) &« D)

By acquiring the herd immunity in population,

which disease has been eliminated ?
(A) Tuberculosis (B) Polio
(C) Diarrhoea (D) Dengue

55. WId GRG0 geht THT sSae fifd %
AR 7
Wh.en was the First National Population
Policy formed by Government of India ?

YA) 1976 7 (B) 1966
(C) 1956 (D) 1946
Sraftdira nferefierar &1 g AR 7

(A) T qErht yumwE o7 € |
(B) T Hictdl o SqTEaTal(dea®) Ieat a9

W
(©) @g@q@ﬁﬁaﬁmmma
@le | ‘
¥P) mmméaaﬂs‘qmax&mﬁ
TR |
What is an example of Intergenerational
Mobility ? ld

(A) A Chief Minster becomes Prime Minister.
(B) Lecturer in a college becoming a Professor.
(C) AnIAS degrading to lower level.

(D) Bus conductor’s son becomes IAS officer.

- 57. Reul @1 ©% 9Yg SR § 3 &= &6l

YHHIAT R :
(4 I g

(B) 3ia:dighTa werd

(C) ATTHGIT THHAT

(D) FHaTdigTd Ferd 4

A group of teenagers bullying other kids in

school is S

(A) Intragenerational equity >

(B) Intragenerational conflict '

(C) Intergenerational equity

(D) Intergenerational conflict

5. 9w YW SR @ frend ¥ Frehl gw A A
T g ?, Pl aen A w22 R @
3T Feh FoTQ B |1 Weg Hhfa ST 7

e wue (faanfea Sren) ©
(B) U I (FTST GR&M)
(C) TR et (I )
(D) TIE e (wfd i)
You come across a couple who has been
recently married;fn which age of female is 22
years. So what term you will refer for them ?
(A) Married couple
(B) Couple protection .
(C) Eligible couple
(D) Target couple

e

g
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59.

WA @ Qs dl & a0 Jauhw F Ry
IYF W7 F 919 71 7% F P 91 99 FE
| =Ry 7

(A) FER \;B(a'm

(C) fig=w (D) 9w

To have the better absorption of nutrients
from food, which beverage you should not
take with or after the food ?

(A) Pickle (B) Tea

(C) Lime juice (D) Water

T=1 1 gfEg & g fawm F foru Sy
F D Ny $ fou w9 w-faafe
AEEFE ?

VX fafmp ®) ffaB

61.

©) ffmc \.ﬁ(ﬁaﬁm&

For better growth of bones in children,
which vitamin is necessary for good
absorption of calcium ?

(A) Vitamin D (B) Vitamin B

(C) Vitamin C (D) Vitamin A

B T 5 B EHIA (T Tae190T) I
T 2 St T s it ' 4 g %
forg st 2 7

A) faarfim A go arfa

@l swdm sk sma F W e =

HIféfrya
T AGIEH
(D) 91 &1 wARTERYH

~ Which food fortification is running which is

""" effective to combat the problem of endemic

62.

goiter ?

(A) Vanaspati ghee with vitamin A

(B) Fortification of salt with iodine and iron
(C) Iodization of salt

(D) Fluoridation of water

TR & AE & AT T gg F forw 3w
AR PR Rt R RN e ¢

A) faafRk B), fraf= E

(C) faafmD ) fafimc

To increase the absorption of iron in the
body, which vitamin will you advise the
people to take ? ‘

(A) Vitam?nK (B) Vitamin E

(©) VitaminD - (D) Vitamin C

63. OPVfrasmasRmAaHAe ?
(A) 24 @) 3T

© a4t wf 5T
Upto which age the OPVcanbcg:ven‘;
(A) 2years (B) 3years ~
(C) 4years (D) 5 years

64. sa&am%aéiaﬁﬁzrﬁﬂ;xﬁgﬁﬁm
U oAt 91l 7 O

How many total doses of vitamin A should
be given to children upto 5 years ?

9 B) 8
(&) D) 6

16-24 T8 1 3w F frw AF B TR @IS 4L
9 () §Idt 2 ?

B*
A) TT JE
§C)) aaa - sg% DPT Eﬁ
At the age 16-24 months, which vaccine’s
booster dose is given ? )
(A) TT ~ (@B) IE
(C) Maeasles (D) DPT
(60 e it & v iy S A
D Fafednfi e
JA) FER
(B) "M ey

(C) TEUEETEH (Fag-3Teqfnaan)
(D) g 70 9% 7 3w

From the following, in which condition will
the basal metabolic rate increase ?
. (A) Fever
(B) Warm climate
(C) Hypothyroidism
(D) Age above 70 years

67, fwfea @ wemat #i il & R st 2

(A) T TR (B2 eraeey)
(B) W A= (FT USeeiyq)

yﬂ: A (S widien)

T G (E8 HiféReam) _
Putfing up the decomposed foods for sale is
(A) Food prophylaxis
(B) Food adulteration
(C) Food additives
(D) Food fortification

D23,
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68.
nfafafirat frd fade gn o fofo &t & T
7 ¥ s 3 vl A Brard wafa @ € @
® T HNTATHI T FHEAE 7
(A) FhToT (B) T T

(C) TTH ANTEA (D) T H YA

When a person’s physical and mental
activities are dependent on particular drug
and in absence of drugs, body functions get
affected. This state is called as

(A) Drug desire (B) Drug addiction
(C) Drugoverdose (D) Drug abuse

frafofga weleRge % yHR & Bam %
Dmﬂﬁﬁmﬂﬁq

B 7,
@) msﬁa%usga > (@) Ve
(i) ANAHTTEH ) AR
o (iii) SEAFTIZH c) W
Qi) 3T FET d) AR

Give the correct option for following match
for forms of carbohydrates :

Ja frd s B iR T AR |

W e e P W

Pt g

i aftad T = fpgr A Far R 7

(A) amifa Tqg F wraet | e

(B) wmnfyres wqgl & R &

(C) mmfora s, forgama o firsan

(D) "t gk, whra 3 g@me &

What does the word “social change’ describe ?

(A) Variations in social group morale.

(B) Variations in social groups.

(C) Variations in social influence, belief.

(D) Variations in social interactions,
process and organisation.

foraet 2o & sER grfos wRada F=1 R 7

(A) TTEHfas qr=gaaAt F gfadT -

(B) &R Hush & gfadq

(C) wmfe freat # uftada

(D) TS |1 | aftad

According to Kingsley Davis, what is social
change ?

(A) Change in cultural beliefs

(B) Change in social interactions

(C) Change in social relationships

71.

A

[T A B (D) Change in social organisation
E?E (i) Polysaccharides (a) Cellulose 73. wfgensti & frg 3w 3 amfas it
(i) Monosaccharides =~ (b) Lactose =+ m;ﬁ% ?
(iii) Disaccharides (c) Starch ' .-
(iv) Indigestible dictary fibre (d) Galactose (A) simfers: Heu
(A) ()-(a), (i)-(a), (iii)-(d), (iv)- (a)
B) (D)), (i)-@), Gii)-(a), (VD> (C) T=ARm
(© (@)(c), (ii)-(d), (jii)-(b), (iv)-(ay (D) R 3R TiER 5 fear
WP (D-(d), (iD)~(0), (ifi)-b), (iv)-(a) 7. " Which right of women has given the series
70. 379 93 ¥ ASH I 10 €1 F = F4ta | O of social changes ?
@ & o fem fafy & war @m aa»—?t & Eg; g:;g;g:;al relationship
o wr= st @ el 2 (C) Township
(A) TEER (D) Home and family relationship
B) i 1 feufa 74. Ty Tuemmel ¥ SEER WUt wgE §
REREE S HAHA-WHA (face-to-face) H1 TIH IAW
(D) 99« A& & ST 7 -
You are examining a 10 year child with -
. : : (A) Fm ®) T
increased weight, so by which method can you
determine whether the child is obese or not ? © f:l:n“:( ik ~D) QIR
(A) Growth Chart According to which sociologist, the face-to-
(B) Lif;styl\]de Colnc(ljition {iz)e c;ntactgs must be th(eg; incpn'm] ary group ?
(C) Body Mass Index oun ooley
(D) Basal Metabolic Rate ) (C) Reuter (D) Giddings
+ 11
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29, waifra mTm FAamw H wmen d FPA

NI

75. FRTWATEF GAAER 7
(A) 5oEft AB) gff iftfran § fpeR FrATE F AEATE 2 7
(€) ¥ . ¥D) &l aeiEn wfeat A @) TR
Which is not a source of Heam Iron ? (A) 7 o " P
(A) I;isl'; ©) sTEAFIEZ (D) ATEA R FZ
% l\r?:atuy How much imprisonment is thler;a:{l F'I)’A
(D) Green leafy vegetables Act for cases of proven food adulteration ?
@W % N F T A Fm 7 (A) 7 months imprisonmert |
ST ooy (A3 - (B) 6 months imprisonment - v
(B)) Wmaé ) (C) 5 months fmprfsonmeﬂt Eﬁ ’
(©) AT et s (Q e ) (D) 4months imprisonment
(D) 5 :
: o . 80. ICDS ¥ dga miadl 3R WA FH FTel
During Pasteurizati -~ -
Eg))_ ’?agtcrcﬁ?lgp;:’swm&wmm‘”w#? afenait w1 frat O S G A1 2 7
uvercle bacillus How much supplemental calories given to the
&C); gaf;c[zgaorgamsms & pregnm;(;)andlactathlgWOIHﬂ;l;édcrICDS? :
A) 8
77. ;fr?ﬁaﬁﬁﬁaﬁq%%qaﬁqaw EC)) 700 '%500
? g . ol - L)
() e c # sufaf & s g | 81 6727 & MR Fifv a=h % foe e
FIAfE g g | Tarda weiiug A o € 2 7
(ii) fézrﬁr:rqn Hfﬁ T ¥feaaa 3k wiosrE How much financial revised rates are g'iven
& FGIY FH FgET AT R | for the severely malnourished children of
(iii) foefm E =fa & faarfim A % sifaedem 6-72 months ? .
HITFATR | (A) 12.00 (B) 11.00
_(iv) ﬁzrﬁqm;a{aﬁaﬁmim%l (C) 9.00 - (D) 8.00
A (), Gi), (i) 3R (iv) (B) (), (@) 3 (i) . . :
(© O, i) M) (@) @), () Gy) | 8 T A SRR 3 g v =7 @
From the following, which statements are =1 @ @ =18, 7
__correct for the vitamins ? ; 5 ]
" (i) Iron is better absorbed by the presence (4) T‘h’ﬁﬁm%mmaﬁﬁm
(_'_‘) (\J/fwtamin C. . =1fgy | —
ii itamin D promotes intestinal - o
" absorption of calcium and phosphorus. " = g & o s 58 T
(iiij) Vitamin E prevents oxidation of AHEFAER | )
vitamin A in the intestine.
(iv) Vitamin K promotes bleeding. © wRfsdm & I @R i in T
(A) (1), (i), (iii) and (iv) (B) (i), (ii) and (iii) THd g |
(©) (i), (iii) and (iv) (D) (i), (ii) and (iv) -
78. WIS aRadT B TFR AL 7 (\Sl)m Wﬁm(éq‘a)mm|
(A) Fo e & i ot should be kept in mind while food is -
) A F yiadg qualified for f:onlﬁcatlon ? :
(C) ie wge i uftad (A) The nutrient should be added according
(D) =& F uitady to the taste of people.
What is a nature of social change ? ®) The fO?d fortification can be done for
%)) CChh:nnge in few individuals & improving the taste.
ge in communi During fortificati
%g; g;ﬂnge E small ;Tn;lltyp may ciaf:;g.ﬁ SR e tase dnd el
- ge in individual (D) The food should be staple in diet.
23 -
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TER ¥ fr 7 g afdw N 1cDs i
F wify & faé coDPO R R BN R 7

(A) TER F1 Tt i
(@) wER el fod

© 7 &1 aigal &7

(D) WA 1 gET e

On which day of the month the ‘Mukhya

Sewika’ has to report the progress to the
CDPO in ICDS project ?

(A) Twenty-fifth day of month
(B) Fifteenth day of month
(C) Fifth day of month

(D) Second day of month

fefm A g % fau FhEaEwE
FRiFalal g S T MR A A e 1
(A)-)ﬁEIﬁWATI'éE‘(FGIE'{
(B)__ﬁtrfﬁ?Aﬁaﬁmrrésm

(©) frarfm A feafis wss Wt

@) fefm A =rfds w5s TR

For Vitamin A supplementation, which register
is maintained by the anganwadi workers 7

83.

84.

86. ¥ aftam Rar farftedt 3 sl farere warsd o

A .B
Uiy wtthes amn Rt} (o) reisivdvn_ 3
ag frrfiel

o (ii) mmmv\ﬁb):m_p
\ (iii)ETlﬁq?jféﬁnﬁN G wem

B(iv)tﬁﬁ m (d) VAT

faftrat. (@rfarEs) o
dmee
Give the correct option for these family
planning methods. 5
A B
(i) Physical Barrier (a) Mifepristone
Methods with
Misoprostol
(ii) Chemical (b) Mala—-D
, Barrier Methods .
(iii) Hormonal (c) Condoms
Methods _
- (iv) Post (d) Spermicides
Conceptional Foam Tablets
Methods

| (A), 3 @ =13 TET / None of these
‘-—(‘B{ (@)-(a), (iD)~(c), (iii)-(a), (iv)-(b)
(©) (i)-(c), ({i)-(d), (iii)-(b), (iv)-(a)
D) (@)-(b), (iD)~(2), iii)-(d), (V)

(A) Vitamin A Rounds Register g87. feaitEt % for g diwor wriwH (National
(B) Vitamin A Tri Annual Rounds Register Nutritional Programme) Fenmfi e E 7
(C) Vitamin A Biannual Rounds Register e ( A) IEda ﬁtﬁﬁ.’.ﬁ 15 198 A asﬁwf 1
(D) Vitamin A Annual Rounds Register ®) 11 & 10 94 &Y et |
85. ICDSﬁECCEWWH’j%? . © 1613193&@?{3%&1&?!!@3“
R P 9 30 FrmH A FAR |
(&) vt . \M)llﬁlsaéﬁagﬁ?ﬁﬁqﬁ:rﬂxm
(B) ﬁi%‘@’*wq"gm 9 30 Rl A FA R |
(C) &N =Iesgs P WS TIHIH Who are beneficiaries of the National
. \4}5 ) sreff TEesES FT S w Igsli:]t:tll?onal Programme for the adolescent
What does ECCE denote in ICDS ? (A) Girlsof15to 19 year with amenorrhea.
(A) Early Childhood Care and Employment . (B) Girlsof 11 to 19 years. . |
(B) Early Children Care and Environment © Glf_léhflf lfh::; 3})9ng631‘5 with body
. . weight less d
(C) Easy Childhood Care and Educan‘on (D) Gids of 11 to 1 5 years with body
(D) Early Childhood Care and Education weight less than 30 kg : e
+ 13 D23
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a ey w5 @ & T A
i vl o v 6 e s e R | 92, et & foRE W?
by i S marnf}{ lobin the 5 year old
< emoglobin
) TRz MR (B) LT, BT A e voratie o s Anaemiis?
chijld should be considered as
(C) Bt 3w (D) T AN He A) 11 mg/d (B) 12 mg/dl
Who gave definition of family as definite 13 mg-/dl (D) 14 mg/dl
(©) g :
provision for sex relations and child rearing 7 ’
(A) Eliot and Merrill | 93, fumdE (9 TAT) o1 R AT BHATR 7
(B) M.F. Nikoff X (A) dar (B) %I
(C) Maclver and Page [ AFATET
(D) Summar and Keller ) ) ®) .
79 : X What is the causative organism for the
ICDS ¥ WY& |f&H 979 WBNP #1287 chicken pox ?
(A) = i e TR (A) Algae (B) Fungi
(B) R TR IIR (C) Virus (D) Bactenia
) e &t v wam 94, ATEEHTHIN & FFUR 2 7R ¥ Ry N g
(D) =& < =M s e aeht 9 % smer § s Afgen H
What is the abbreviation WBNP used for in e I fraft tfafes S8 Y Tavgsar
ICDS ?
(A) Wheat Beans Nutrition Project ) AR 7 @50
(B) Wheat Based Nutrition Programme (A) ST 200 fRat FAr go.0
(C) Wheat Beans Nutrition Program (B) <™ 100 ferent et
(D) Wheat Bag Nutrition Programme (C) = 35 frelt Fendt
90. 3 Tyt TET wiEr e fomd o gegaEn ) = 600 el e
et i THe ‘Tﬂ'q'l'( T q 13% @‘rﬁ Skl  How much additional calories are required
i A forg w1 witEr i@ 7 "in diet of a lactating mother of a 2 months
(A) ﬁwﬁawﬂ‘cm (B) mw infant, than diet of a normal woman
el \'(( . f according to ICMR ?
Elgiﬁ it Lt (D) {l i (A) Approx. 200 kcal (B) Approx. 100 kcal
Which type of farmly you will wntc in (C) Approx. 35 kcal (D) Approx. 600 kcal
record if you find a family in which 3
nuclear families which are having the blood 1 95. 9 frdl Wt =+ TR F g
relation live together ? fired, I 3R 33 Y ¥ Ty A @R
e e ((g; it 1ol Z@d &, @ a9 78 W § e 3 e Rew
(C)SJotnt family - famey EEEEATHE 7 -
91. fig fammg arfufram # 1976 wvvm @ weat (A) @ET \ggs/qaﬁm
m%ﬁmaﬂqmaﬁméﬂ?ﬁm/? © FHTEEM (D) WeRkEaB
(A) d= M (B) wmfaw You see a patient with paroxysm symptoms
(C) s (D) =PER - of headache, vomiting and high fever with
Which reason was not valid for divorce prior chills, for which'infectious disease you can
to 1976 amendment to Hindu Marriage Act ? assume these symptoms are ?
(A) Venereal disease (B) Conversion (A) Measles (B) Malaria
(C) Cruelty (D) Adultery (C) Worm infestation (D) Hepatitis B
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In a disaster-stricken region, the population
is facing food shortages. What type of
supplementary  nutrition  might  be
immediately required to prevent
malnutrition in this situation ?

(A) Fast food deliveries

(B) _Ready-to-eat emergency food rations

(C) Multivitamins
(D) Energy drinks
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A pregnant woman in a rural area is
struggling to get proper nutrition for herself
and her baby due to limited access to
nutritious food. Which of the following
interventions can provide supplementary
nutrition to address this issue ?

(A) Referring her to hospital.

(B) Counselling family members.

(C) Distributing prenatal vitamins.

(D) Promoting exercise.
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Marasmus is a form of malnutrition
characterized by :

(A) Healthy growth and development

(B) High energy levels

(C) Excessive fat accumulation

(D) Severe muscle wasting and weight loss
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(D) qiweh aeal ht A @ua
What is malnutrition ?
(A) A healthy diet.
(B) Adequate intake of all essential nutrients.
(C) An imbalance between nutrient intake
and body requirements.

(D) Overconsumption of nutrients.
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A group of elderly individuals in a senior
care facility is at risk of nutrient deficiencies
due to limited food choices. What type of
supplementary nutrition strategy can help
ensure they receive essential nutrients ?

(A) Offering high-sugar snacks.

(B) Limiting water intake.

- (C) Providing fortified foods and

nutritional supplements.
(D) Encouraging fasting.
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